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The figures in the margin indicate full marks
for the questions

Answer any five questions
1. What were the main features of the
Subsidiary Alliance? How did it contribute to
the expansion of the East India Company’s
rule in India? 5+10=15

2. Discuss the policies adopted by Lord
Dalhousie for the expansion of the
Company’s territories in India. To what

extent was he responsible for the Revolt of
18577 10+5=15

D9/ag ( Turn Over )




|

9.

(2)

. e
Why did Lord Comnwallis convert :;t
decennial settlement into the Perm?‘x,lons
Settlement? Wyt were the main provisi

of this Settlement? Highlight its meriti}.+6+5=15

, t
" Explain the term Drain of Wealth’. In wha

ic
V& did it promote the rise of S 1015
Nationalism, in Indig?

. ) . SEeS
Give an account of the new social clas

L jod of
Which emergeq in India during the period 15
British rule.

Discyss th

Indian Renaissance.

Why diq Lord Curgg
of Bengal i

e
Trace developrnents leading to ﬂ;
Non-Cooperation Movement of 1920-2

What were the p of this 5
AN programmes =1
Movement? progr , 8+7

D9/48

‘ iin
¢ Tole of the Brahmo Samaj 15

(3)

two of the
10. Write short notes on any 7v4x2=15
following :

@) Deoband Schoo Revolt of 1857
es of the Revo
(b) Consequenc

(0 Left Wing in the INC .
(d) Indian National Army (
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